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Why top-down validation? Today’s agenda

A fresh perspective Examples and case studies

Regulatory focus Bottom-up vs. top-down

NEDs and Board feedback |deas for Monday




Where next on the validation journey?

Detailed test plan

Pass/falil criteria Test schedules




Where next on the validation journey?

1. What moves the dials?

2. Understanding change

3. NED top-down questions




1. What moves the dials?
Sensitivity testin

Typical bottom-up approach Making it top-down

Sensitivity test Impacton SCR Commentary

1 Increasa in snmmadamwsurty—t:ussﬁx Movement ssexpected
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i R HEE e Consistent sensitivities
14 | Daed| 11 | Dec 8 | Increase in large ossfrequency - ClassC +30 it not -
15 | Incg| 12 | Inerd| 9 | Decreasein lamelossfrequency—Class D -12 Movement ssexpected
16 | Incrd| 13 | Inerd| 10 | Incresze in large D2sfrequency - ClassE +10 Movement ssexpecied
17 | Cats| 14 | Daed| 11 | Decreaseinlamelossseveity—Clhss A -15 Movemeant esexpected
18 | Incrd| 15 | Incg| 12 | Increaze in large o2z zeverty - Clezz B +20 Movement ez expecied
19 | Send| 16 | Incrg| 13 | Increase i lsrge ossseverty- ClessC +30 't not -
17 | Caty| 14 | Decressain lamgelosssevarity —Class D -12 Usvemart sz sxpactad F =
18 | Incrg| 15 | Increase in large ossseverty— ClessE +10 Movement ssexpecied O re n S I C
19 | Send| 16 | Increasaidecrease in payment psttemns +1 Minimalimpact—sasexpecied
17 | Catastrophessposure sensitivity +30 Materisl s=nsitviy
18 | Increasa in most mateis operstonal st scensios +5 Smalimpact —as expaced
10 vt ng 25 Material




1. What moves the dials?
Sensitivity map
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1. What moves the dials?
Peer group comparison
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Current
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2. Understanding change
Corridor of uncertainty

Typical
annual
changes
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Current
SCR

2. Understanding change
Corridor of uncertainty

Typical
annual
changes
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i 3. NED top-down questions
Example questions

Q1: What are our 5 most material expert judgements?
How could we manage our reliance on them?

Q2: What are the key limitations of our model and why?
What could make these limitations worse?

Q3: How would we know if there were significant data issues
affecting the reliability of our modelling?
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Next steps
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How could we reduce our reliance on them?
Current
SCR Q2: What are the key limitations of our model and why?

What could make these limitations worse?

Q3: How would we know if there were significant data issues
affecting the reliability of our modelling?
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Three tips for top-down validation

1. Don’t try to do everything

2. Simple language

3. Look for eureka moments
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